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1. Simplify %(8}( —-10).

15

a) gx—S b) 6x+— = 7 80
3 2

P T8
e

2. 4(5x—3)=

a) 9x—7 b) 20x -3 ¢) 20x—7 d) 20x—12

3. Find the number with the least value

(o-i ) ws 0 12 07

1 2
4. —x-Ty+Zx—14y+1=
e *—IyH a1y

a) §x+7y+l b) 2xy+l c) 3x—21y+1 d) —E-S—xjH—[
5 5 5 5
5. What number multiplied by 7 and then divided by 4 is equal to 14?
a) 56 b) 16 c)8 d) none of these

6. It is known that making 1 Ib. of honey requires 20,000 trips by honey bees to flowers to
gather nectar. How pounds of honey would 65,000 trips produce?

13
a) 4% Ibs. b) 45,000 Ibs. ¢) %lbs. d) - lbs.

7. Find the value of ~[ 8|

@ b) 0 c) 8 d) none of these

a4l — b) — d) -=—



9. Which answer is the least?

a) 5%6-3 b) 5-6x3 c) 5+6x3 d) 5x6+3

10. 6+—_i =
=5
3 2 3 3
6— b) 5= -= d) —6-
a) . ) - c) 5 ) 5
11. 3/8x°y?
a) 4x2y3§/x_—2 b) 23:}*3/.%T g) 2%y d) 2x?

12. “Twice a number is greater than four’ can be written equivalently as:

o) %3 b) x> 8 @ d) x>4

13. 16xy — 6y =

a) 10x b) (4x —2y)(dy + By@ d) 6y(10x—1)

14. Factor completely: x* =y
a) (x—y)x+y) b) (xy)x-y) 0 x+y)-2x-y) d) (x-y)

15. If x is greater than 4 then X + 2 must be

a) 6 b) between -6 and 6 c) greater than 2 d) greater than 6

16. x* —x—12=0, then x could equal which of the following?

a)3 c) 12 d) -4



17. Which of the following inequalities defines the region above?

a)x<0andy<0 b)x/? SxEy dyx>0andy>0

18. The inequality x—4 < 12 isequivalentto

Ao
@ x<16 b) x216 c) x<-16 d) -16 < x <16

19. The inequality 2x—7 = x+9 is equivalent to

=~ .
@ ‘P/f;) geéxﬁ‘) d) x<-16

20. Factor the following trinomial: 2x* +3x—5

a) (x-1)(2x+5) b) (x+1)(2x+5)  ¢) (¢-1)(2x-5) d) (e +1)(2x-5)

21. Which is a factor of 6x> +11x—107?

) (3x+2) @ C¢) (3x+5) d) (3x-5)

22. Ifx=-3 then x* —6x+7 =

a) 16 b) -20 ¢) 20 _@




x* . 1 |
g) = by 2% ¢) —¢ d) 5
Y Y xy
55, HE=8 6 thenw=

a) 24 b) 22 c) 16 d) 18

26. (r—3p)’ =

a) r* —9p* c) #2 +6rp+9p° d) r* +9p°
21(ﬂﬁ}[lqz
3 w‘; /—\\
—56w° —8w"’ M b 56w
) 73 ® —1 Qg/? | D37

28. @x—a)(lzx+3)=
Ca) 46 +(12—a5)@

b) 4bx* +(ab—12)x—3a
c) 4bx*> +(4—-a)x—-3a
d) 4bx? +(12+ab)x—3a

29.i+g=

3x =x

10 @

a) — b)) — — d) —

) ) 35 9 3 ) 35
30. 9 o o

x-7 x-3

2) 2 8x—20 9 8 8

(x=T)x-3) 2x—10 D (x=3)(x-7)




31. Which of the following is the graph of 2x+3<-77

a)
1 | 1 1 | | 1 L 1 L | |
'@7 T | T ! | | T ] | T 1 ]
-6 -5 -4 -3 -2 -1 0 1 2 3 4 5
b)
— | | | | | | | | | | | [
= 1 1 I 1 | I I 1 I | I |
-6 -5 -4 -3 -2 -1 0 1 2 3 4 5
' i | 1 | 1 | 1 | | | |
] | I I I T I | I | I |
-6 -5 -4 -3 -2 -1 0 1 2 3 4 5
d)
= 1 | | I | | L i | | I | I
-t ] i ] ] 1 1 1 | | 1 T | )
-6 -5 -4 -3 <2 -1 0 1 2 3 4 5 6

32. In the solution of the system of equations below, what is the value of m?

Sm—3n=9
3m+n=11

3
a) — b) 2 —
) 3 ) C)l1
3
3. ———=
x“+2x
a) 2 b) x’ &, =
1+ 2x % +2

34. Jack drove y miles in 20 minutes. If he continues at the same rate how many miles can he
drive in the next 15 minutes?

a) 35 miles b) 4% miles ¢) 5 miles d) 3% miles



35.
3 2
S Eo

£y
a) 5X+5y

3y+2x

d)

3y+2x
Sxy




